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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know
fEdden-a ol e TS & 2
7

(2) ¥

3)

(4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

i gl sy Ry
FUYF [ : T19T YT S U 5HE & i fedl Y9 a1 fiuR & Sed $ar g |
FUI]: 990 F U2 oy R TFU O § - = F YR W T F YR gy o F ey ow

TRIE YA & s d, - 3T Y fdeed! # § w9 Iuged I B 90 S
(1) FUF [ RIS 9el §

(2) HvF 1 SR 11 41 1o &

(3) T FEI & WA U L Tad &

(4) Fu= ] 7Tod 2, AT By 11 981 2

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) inprounptn

(3) mpromputue

(4) inproptune

SE0I® &1 [4TH Samsy |

1) T




(2) =1
(3) =&

(4) smaE

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |
T dd s oo s S e I s 2 |
(1) A

(2) =

(3) wEEE

(4) it

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontaneous

S. feelings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S T FAFNT 1 G Weg © 7
1) &Em

(2) g9

(3) T

(4 &

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’

(1) meekness

(2) revenge

(3) frailty

(4) °cnergy

w1 Sl & WHA € B 0P Weg B W E ?
(1) SHHEE




(2) g3y
(3) T

(4) w7

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.

(1) He had not left. we would have been forced to evict him
(2) Hadn't he left we would have been forced to evict him.
(3) Had he not left. we would have been forced to evict him

(4) He not had left. we would have been forced to evict hum.

Safet T e e s Ee sf AW g 7
(1) TR 3
(2) TR S
(3) TmH HL
(4) =90 H
1[Option ID=31289]
2[Option ID=31290]

3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have caten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been caten by him.
(3) He had eaten the cake.

(4) The cake might have been caten by him.
FefEiEd # 9 9% 99 1 999 S |

(1) == 9 By 7d B |

(2) w0 W By AT S |

(3) s G Y |

(4) == 8 HiY 751 S |

1[Option ID=31293]

2[Option ID=31294]

3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - "captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

FrafafEa § 9 aoH e 780 & |

(1) ==

(2) ¥5%

(3) Fsw

(a) R

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]




Sl. No.10
QBID:15550410

Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective

Frmfafag # 9 &9 91 wy= 98 T80 & |

(1) & & ot REeut &1 5@ dmei & TAE e g
(2) oo & Ry T0 G 7, 999 IR FRF e |
(3) fardmull & gerar e Py e ¥ |

(4) AT RNl & & 4E § - qU o) df |
1[Option ID=31205]

2[Option ID=31206]

3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

98 ¥ BH YRA PR & ¢ T SNt FaeoR @50 & $9 3 Fged gue 2
(1) 4l 3Fd AR

(2) 20 FARME

(3) fawm wmf

(4) Slicies Fed

1[Option ID=31209]

2[Option ID=31210]

3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies., which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yanira India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A.BandD only

(2) Cand D only

(3) A. CandD only

(4) B.Cand D only




FrofafEa #=-3 Fufdl 3 o & § 7 72 aduiTe 0 9usn Sulal vt @1 8 5 emgy e 68 @ e s F mam § wifig e mn
ur 7

A. 30 $fEm fafies

B. &=y 3f¥ 3ty fafhes

C. 77 3fea fafies

D. wigss givsar fafies

A= f2u 7 fosedl H ¥ 9= Sugsd TR @1 904 S
(1) F@WA. B3R D

(2) FE@ C R D

(3) FWTA, C3RD

(4) F@@B, C IR D

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian

HHET STH T SESY] B A &

(1) = =

(2) fAFameayg

(3) T&w 3% BRI

(4) SNEEEEE! A6 =4 5iEaA

1[Option ID=31217]
2[Option ID=31218]
3[Option ID=31219]
4[Option ID=31220]

sl. No.14
QBID:15550414
A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :

(1) Pituitary Gland
(2) Hypothalamus
(3) Pineal gland

(4) Adrenals
AT & YR § Ud 05 99 3 59 TER & Terd #1 I Sl & o gAN gie IR dRe e @) S wuifed Sl &, 98 7 Seandl &

A, foegel 9/
B. graqidasEd
C. difme @iy
D. ugia
H= fau 7y fosedl H ¥ w=d Sugsd IR &1 904 S
(1) I A, B iR D
(2) FaT A IR C
(3) @ A. B 3R D
(4) Fa@ A 3R D

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15




QBID:15550415
Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

Frgfae & @ €1 990 R W S il yun Jig s S 7
(1) #agd

(2) Titgar o

(3) === ds

(4) =i TwE AR

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means 'we great Indian country’,
"ot ka la ju" means "'we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

UF &2 Fe v H

"uo ja ka hu" 1 3*f § 'we great Indian country',
"oi ka la ju" 1 31 & 'we score good highest'.

"la fu ja ju" 1 38f § "India score the highest"

3 "ju uo na fu" 1 31 § "highest of the country”.

1 9 e W H "great” H1 HC F & 7
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417




If "A@B" means A iz the mother of B
"A#B" means A is the father of B

"A # B" means A is the son of B

How is X related to Z from the given equation ?

X F X F Z
(1) X is the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X

e "A@B " FT R 25 A BFI W &
"A#B BT B fE A, B ET TS

"Az B"# g EA BIEE

iR m T eU SN R X I ZIT T=YE?

Xz Yz Z

1) X, ZHF I g |
(2 ZXFUa? |
(3) Z.X® g
(4) ZXH A g

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

Frfafea 4 § d1ed sr 3fe yeud qEels o e € 2

(1) faw areg e

(2) H TRARS TS FHER TEH

(3) &Y wd HiY HTe

(4) fay @ s

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419




Seven dance students- T, U, V, W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item, a solo ballet. In deciding the order of performance, the mstructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third. what is the latest position in which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth

FEm: @ F I eE - T, U, V. W, X, Y 3R Z - &1 t& Ja-vwfd &1 ¢ iRk Fuiost @ 95 fFoft sen 2 & em e sn d oegfa &7 wsm &t
1% U UIa & & - U UHhd a9 & wu | Wi &1 %A i s a9 e & g ufaesl &1 9o s sfer § -

. X 959 O gE BH W WG el § gl |

X & W & ¥ usd W WGl 8T & wear |

AR TN AF Y I s R S 9F0 ¢ |
W H QA e Y O Z &1 U &1 il |

.U & §0d 950 91 §od alg 8 V &1 Wi &l 91ied |

wy - afg U fR &0 R Wl & § a Y <fiuon $9 v @ 9earg ?
(1) dfed

(2) =ad

(3) =Ed

(4) =i

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

L

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C, D, E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C. and passes through D only.
Flight Z has its ends at E and G. and passes through F only,
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities 7
(1) A
2 C
3) B
4 D




wh;wmm%-A.B. C. D, E. F ¥R G. Fmfaf@a frodl &1 7o s gu s ekl &l e A oisy d R d gag S X, Y, Z
EELCIE S

FEH X, A #R C T Fisc & o F90 B § 5@ o © |

SSH Y & Rt B ok € W ¥ ik 75 Faw D I §id Torell © |
SEHZFRRE IR G WE R 75 90 F 9 519K ok & |

I Tt B ST 5 EeX T O T & R d9 H 9o # 9ae & Ry @i SN T el | |

T d e o TR MfiE R T A fI dR R gl & -
1) A

2) C

3) B

(4 D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676

(2) 476

(3) 578

(4) 576

AUCTION g % auil &1 Tl ver ¥ aafed o o 9o &, e & o 9eq o aw e 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. em. Then volume of cube is...

(1) 289 em?

(2) 4913 cm?

(3) 4931 em?

(4) 4319 em?

U% 9 &1 JH1T 4700 1734 70 991 8 @ 99 BT g0 a1 g 2
(1) 289 em’

(2) 4913 em?

(3) 4931 em?

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If v 1 ,then J(l+3..'2
y 3 2oy
(1) -
4

(2)




5
@ >
4
@ =
5
MRy 1 @Ry RmEmo
y 3 -5
W -
4
@ -2
5
@ 2
4
@ 5
5

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of ¥ 4.5% to yield ¥ 81 of interest at 4.5 % per annum of simple interest 7
(1) 4 years

(2) 5 years

(3) 3 years

(4) 6 years

Z 450 F1 4RI F R0 4.5% WREd YR 9 F @I TE S EUH 7 81 WK FA § fHaen w\g wm 2

1) 4o

2 5o

(3) 3=

4) 6o

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23
(2) 17
(3) 40
(4) 30
7 HHTE OIS BT S 20 € ° 99 $1¢ U 999 §91 99 S gn e g 2
(1) 23
(2) 17
(3) 40
(4) 30
1[Option ID=31269]
2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1575091

Histone plays a major structural role in chromatin formation. A few exceptions. exist, most notably some sperm, where the histones are
replaced by another class of basic protein named ag

(1) non-histone chromosomal proteins

(2) protomines




(3) nucleosomes
(4) primosomes

S 1, feH Ue 0= TREES YHHT YTl ¢ | [y 39 4 $3 YHIU] S8 3udls 11 ¢ oel fowcd &I Hd UIcH & Uh
3 ol & gR1 wfaefud ax fearsiar g | e m § -

(1) B HRled HHMHET WicH
(2) HiemEd

(3) iFaEm

(@) UHEE

1[Option ID=26701]
2[Option ID=26702]
3[Option ID=26703]
4[Option ID=26704]

Sl. No.27
QBID:1575092

Cetyl trimethyl ammonium bromide (CTAB) method is generally used for
(1) precipitating nucleic acids

(2) precipitating protein

(3) precipitating neutral polysaccharides

(4) lipids

Ryerga cefusa smify smgs Al o1 g wremRo: o g fear e 2
(1) gfaege TS &1 @&y

(2) HIEH ST 3@aqur

(3) g UIAIEPIZS BT Ha&qul

4) fofs

1[Option ID=26745]
2[Option ID=26746]
3[Option ID=26747]
4[Option ID=26748]

Sl. No.28
QBID:1575093

Entry of pollen tube into the ovule through funiculus or integuments is referred as
(1) Mesogamy
(2) Porogamy
(3) Xenogamy

(4) Chalazogamy

ORI AT ST Siolrs § Is]H TT SIEATaRY] & GRT VA< G- B 1 H5dl © 2
(1) YAy

(2) 3ESgRIydY

() A=A

(a) Fyniigm=

1[Option ID=26789]
2[Option ID=26790]
3[Option ID=26791]
4[Option ID=26792]

Sl. No.29
QBID:1575094

The conventional ovule is lacking in the members of family
(1) Cucurbitaceae

(2) Loranthaceae

(3) Rutaceae

(4) Apiaceae

5 5 9 T8 URAR & W51 H URMERS §9is 6l gldi 6 ?




) pgfacHt
(2) ARAYH!
(3) =4t

(4) Q[QQQ

1[Option ID=26833]
2[Option ID=26834]
3[Option ID=26835]
4[Option ID=26836]

Sl. No.30
QBID:1575095

Little leaf of brinjal is caused by

(1) Viruses

(2) Bacteria

(3) Mycoplasmas

(4) Nematodes

§7F 1 BICT Tl 817 P DRU T B 2
(1) diEd

@) SEiar

(3) HIgDI@IH

4) FHers

1[Option ID=26877]
2[Option ID=26878]
3[Option ID=26879]
4[Option ID=26880]

Sl. No.31
QBID:1575096

Selerospora graminicola causes a disease called
(1) Downy mildew of pea
(2) Downy mildew of mustard

(3) Green car disease
(4) Wart of potato

YD CRIGRT AT &R 14 aTel I 1 a1 Hed © 2
(1) R B HRITHT 1R

(2) WX BI Gt 1

(3) gRd aral I

(a) 31 @l fhuret

1[Option ID=26921]
2[Option ID=26922]
3[Option ID=26923]
4[Option ID=26924]

Sl. No.32
QBID:1575097

The 'Cup fungi’ belong to the members of the order
(1) Sphaeriales

(2) Erysiphales

(3) Pezizales

(4) Ustilaginales

HU-HIP' TH & [ Yawl A FaY @A 8 2
(1) THRue

(2) WIEEE

3) UforeT

OB N IEEH




1[Option ID=26965]
2[Option ID=26966]
3[Option ID=26967]
4[Option ID=26968]

Sl. No.33
QBID:1575098

Which of the following exhibits Tunica-Corpus organization
(1) Araucaria

(2) Ephedra

(3) Pisum

(4) All the above

9 8 @ oF 9 e Sy 91ed @i gufdrg 2
(1) WRIpRAT

(2) THgI

(3) HigdH

(4) S feuu g

1[Option ID=26993]
2[Option ID=26994]
3[Option ID=26995]
4[Option ID=26996]

Sl. No.34
QBID:1575099

Which of the following plants vield bast fibers
(1) Musa textilis

(2) Linum usitatissimum

(3) Ananas comosus

(4) Saccharum officinarum

9 & T 317 1 e IRe dq STfed FRar g 2
Q) Iuy qreferg

ot ks N 4

(2) (Tlg+H gﬁHCCHHdH’
(3) YT BIHTY
(4) JHvH HBaRT

1[Option ID=26997]
2[Option ID=26998]
3[Option ID=26999]
4[Option ID=27000]

Sl. No.35
QBID:15750910

Which of the following is primarily responsible for the purgative property of the ayurvedic combination 'Triphala’
(1) Embilica officinalis

(2) Theobrome cacao

(3) Trifolium indica

(4) Terminalia chebula

3rgde 7 Broar aftu & Yo fa<ivar & fig 599 9 gEa: $F StReri § 2
() TEIrpT STpIfelo

@) fgisia Hol

() CIEPIfaTH 35T

) e deger

1[Option ID=26705]

2[Option ID=26706]

3[Option ID=26707]
4[Option ID=26708]

Sl. No.36
QBID:15750911




The abnormal warming of surface ocean water in eastern pacific is called
(1) LaNina
(2) ElNino
(3) LaNino
(4) ElNina

udf tfftre AR & Tdg! od & SUER SO 6 1 $8d § 2
) e
(2) Ta Al
3) @A
(4) TAAHA

1[Option ID=26709]
2[Option ID=26710]
3[Option ID=26711]
4[Option ID=26712]

Sl. No.37
QBID:15750912

Maximum biodiversity is present in

(1) Polar region

(2) Temperate region

(3) Tropical region

(4) Sub-tropical region

ffreran Srafafgyar el urg ol & 2
(1) §dig &=

(2) T &

(@) JurslcEdly &

(4) IUT &

1[Option ID=26713]
2[Option ID=26714]
3[Option ID=26715]
4[Option ID=26716]

Sl. No.38
QBID:15750913

The greenhouse gas which contributes maximum to global warming is
(1) CHy

(2) CFC;

3) CO,

4) N0

%1 I UIFgTad 119 Telad qiiti o 9ed $iiUe e el © |
(1) CH,

(2) CFCs

(3) CO;

(4) N0

1[Option ID=26717]
2[Option ID=26718]
3[Option ID=26719]
4[Option ID=26720]

Sl. No.39
QBID:15750914

The pattern in which leaves are folded in the bud in relation to one another is :
(1) Ptyxis

(2) Venation

(3) Phyllotaxy

(4) Vernation




UHT A=Y fore o<l 0o g3k & Wigu dell 3 e g1 § |
(1) fogay 9y

(2) RGO

) oo fg=gr

@) [Hyea-lga

1[Option ID=26721]
2[Option ID=26722]
3[Option ID=26723]
4[Option ID=26724]

Sl. No.40
QBID:15750915

A specimen other than isotype. holotype or syntype. mentioned in the protologue is
(1) Lectotype

(2) Topotype

(3) Paratype

(4) Autotype

SIEIANT & TV, ATHY6Y O1 §eW0d & 7541 & sifdfked S 91 9971 $14d g 2
(1) IFTIRY

) RFHRY

(3) FWUIY

(4) WUy

1[Option ID=26725]
2[Option ID=26726]
3[Option ID=26727]
4[Option ID=26728]

Sl. No.41
QBID:15750916

Tricolpate pollen grains are present in
(1) Laurales

(2) Nymphaecales

(3) Piperales

(4) Brassicales

Haey® ! WS [Py g od § 2
(1) AR

(2) FiErTs

(3) OO

OREREIS]

1[Option ID=26729]
2[Option ID=26730]
3[Option ID=26731]
4[Option ID=26732]

Sl. No.42
QBID:15750917

Sago is obtained from

(1) Gnetum

(2) Pinus

3) Cycas

(4) Ginkgo
AT ) e SIefT & 2
1) Feg

(2) Gig7d

(3) HIgPH

) fir=p]




1[Option ID=26733]
2[Option ID=26734]
3[Option ID=26735]
4[Option ID=26736]

Sl. No.43
QBID:15750918

Modified endodermal cells in the stem of Selaginella are referred as

(1) Glossopodium

(2) Trabeculae

(3) Rhizophore

(4) Ligule

RIS & a1 S FUaiRd Siawadl BIRIPT B Dl T DL & 2
ORI BT

(2) ddud

(3) IEHBR

4 Siifiet

1[Option ID=26737]
2[Option ID=26738]
3[Option ID=26739]
4[Option ID=26740]

Sl. No.44
QBID:15750919

Which of the following part is missing in Rhynia
(1) Root

(2) Rhizome

(3) Rhizoids

(4) Sporangia

g & I o 91 yr wrsfard T8l urr o 82
(1) ©g

(2) Udhg

(3) HATHIA

(@) wRfmEr

1[Option ID=26741]
2[Option ID=26742]
3[Option ID=26743]
4[Option ID=26744]

Sl. No.45
QBID:15750920

Plant group that is also known as amphibians of the plant kingdom is
(1) Thallophytes

(2) Bryophytes

(3) Pteridophytes

(4) Angiosperms

qTed HHE ol 'UT&Y Od & SHTER' & A9 § ot SH1 o1 3 -

1[Option ID=26749]
2[Option ID=26750]
3[Option ID=26751]
4[Option ID=26752]

Sl. No.46
QBID:15750921




Psuedo elaters are found in
(1) Riccia

(2) Marchantia

(3) Anthoceros

(4) Sphagnum

STUR 5o [P OE TSI § 2
o) Rfggar

) G2

(3) UYINRINg

(4) Tig

1[Option ID=26753]
2[Option ID=26754]
3[Option ID=26755]
4[Option ID=26756]

Sl. No.47
QBID:15750922

Which of the following is commonly known as "peat moss" 7
(1) Funaria

(2) Anthoceros

(3) Riccia

(4) Sphagnum

e, P E A g de gra sed g 2
() T

(2) T2IRRNT

(3) gy

(4) Tg

1[Option ID=26757]
2[Option ID=26758]
3[Option ID=26759]
4[Option ID=26760]

Sl. No.48
QBID:15750923

Lichens are
(1) Antotrophs

(2) Heterotrophs
(3) Biotrophs

(4) Phagotrophs

A (S I -
(1) Wure

@) gRO

() Sau

(4) e

1[Option ID=26761]
2[Option ID=26762]
3[Option ID=26763]
4[Option ID=26764]

Sl. No.49
QBID:15750924

Which enzyme catalyzes the covalent closure of nicks in DNA molecules
(1) DNA gyrase
(2) DNA ligase

(3) DNA helicase
(4) DNA primase




31 T, U & Uil & DIF | Talgd HeHaiold g &l SiRd &l § 2
(1) SI. U4 T IEd
(2) SI.UA. U AT
(3) 31T, U ol
(4) S U4, U W2ay

1[Option ID=26765]
2[Option ID=26766]
3[Option ID=26767]
4[Option ID=26768]

Sl. No.50
QBID:15750925

Which of the following chemicals has stabilizing effect on micro tubule assembly
(1) Colchicine

(2) Paclitaxel

(3) Nocodazole

(4) Colcemid

fau 770 Tl 8 9 (59 T o1 i o W R e glal g 2
(1) PIAPEM
@ UfFacaya
ORI I
(@) wifedis

1[Option ID=26769]
2[Option ID=26770]
3[Option ID=26771]
4[Option ID=26772]

Sl. No.51
QBID:15750926

The synaptonemal complex is observed in which phase of prophase-I of meiosis.
(1) Leptonema
(2) Zygonema
(3) Pachynema

(4) Diplonema

S BT Yalawil-1 $1 59 sraen o RHYHTd Birdcie url &l § 2
(1) AP

) ST

@) Ui

@) feEm

1[Option ID=26773]
2[Option ID=26774]
3[Option ID=26775]
4[Option ID=26776]

Sl. No.52
QBID:15750927

A protein involved in the formation of intermediate filaments of cytoskeletal framework

(1) Lamins

(2) G-Actins
(3) F-Actins
(4) o-tubulins

TIEeldeR gfd & Heddf dagaii & 9o & 19 9 uidH afffaa gidi g 2
@ dffg

(2) Sil-ufde

(3) UG-Ufde—g




QI e

1[Option ID=26777]
2[Option ID=26778]
3[Option ID=26779]
4[Option ID=26780]

Sl. No.53
QBID:15750928

Leucoplast is

(1) red in colour
(2) blue in colour
(3) green in colour

(4) colourless

3auffl 9a@® ST AT G 2
(1) @ra

(2) e

3) 8

(4) M

1[Option ID=26781]
2[Option ID=26782]
3[Option ID=26783]
4[Option ID=26784]

Sl. No.54
QBID:15750929

After fertilization, zygote obtains all its plastid and mitochondria genomes from the maternal parent. this is also named as
(1) maternal inheritance

(2) pleiotropic effect

(3) variegation

(4) biparental inheritance

8= & 918 g og- il da@ quT AIEIe IS al SiHIH Al 9 3 W $Rdl § | SHST A § -

(1) HIq AT

(2) SgUHIG! UHTT

(3) Tga-

(4) fgo1e g

1[Option ID=26785]
2[Option ID=26786]
3[Option ID=26787]
4[Option ID=26788]

Sl. No.55
QBID:15750930

Which one of the following is correct statement for Generalised transduction
(1) Occurs during the lysogenic cycle of temperate phage

(2) Some new viruses have both viral and bacteria DNA

(3) Phages penetrate bacterial cell and enter lytic cycle

(4) Viral DNA integrates into the DNA of the bacterium and replicates later

SUD (pd GIbHUl & QT8 =11l 4T T o1 T 4 H1H 1 Y- Hol 6 2

1) <fidor il & aaeHe 9% $ SRE g e |

(2) T 70 aEREl H fawTo] iR SHaTy] DNA ST 61 U S § |

(3) fauiell, Sar] SifresTsi &1 o S 99+ 9% J Yd SR a1 § |

(4) TTERY B DNA. SI1a1U] & DNA & 1Y U1 i a8 § Wil aai g |

1[Option ID=26793]
2[Option ID=26794]
3[Option ID=26795]
4[Option ID=26796]

Sl. No.56



QBID:15750931

The structure which is responsible for locomotion in diatoms is
(1) Coste

(2) Raphe

(3) Valve

(4) Girdle

SEUeH § 09 & fow o I T iR &2
() PRI

(2 Ywt

(3) dieg

(4) dolyg

1[Option ID=26797]

2[Option ID=26798]

3[Option ID=26799]
4[Option ID=26800]

Sl. No.57
QBID:15750932

Among those given below which plant families have CAM species ?
(1) Poaceae

(2) Zygophylacae

(3) Cucur bitaceae

(4) Asteraceae

= feu vty uRart ¥ g o ow wiefie gkdt &2
(1) gigd

) STt

3) Ppopiacdl

(@) Tt

1[Option ID=26801]
2[Option ID=26802]
3[Option ID=26803]
4[Option ID=26804]

Sl. No.58
QBID:15750933

Which of the following is a primary. sugar source in translocation of phloem sap.
(1) Young leaf

(2) Mature leaf

(3) Young fruit

(4) Shoot tips

dehd 39 & RIFIRU 5. 99 H ¥ S 91 Ja@yd Ib1 |id § 2

(1) 3aRYe o

) gRue o

(3) 3URYD B

(4) TRIE BT ST

1[Option ID=26805]
2[Option ID=26806]
3[Option ID=26807]
4[Option ID=26808]

Sl. No.59
QBID:15750934

Principal form of carbohydrate that is translocated through phloem is
(1) Glucose

(2) Sucrose

(3) Fructose

(4) Starch




FIaIIE ST B I F T& $U FlTH GRI gEidRd gidl 8 2
() PRI

) el

(3) Haer

(4) Als

1[Option ID=26809]

2[Option ID=26810]

3[Option ID=26811]
4[Option ID=26812]

Sl. No.60
QBID:15750935

The water splitting in photo system-II (PSD) 1s mediated by metal

(1) Mn

(2) Mg

(3) Fe

(4) Ni

TSTGA-II (PS-1T) H 5 ferare [y oI &1 Aerwdl g1 fhar ondT &
(1) Mn

(2) Mg

(3) Fe

(4) Ni

1[Option ID=26813]
2[Option ID=26814]
3[Option ID=26815]
4[Option ID=26816]

Sl. No.61
QBID:15750936

The site of sucrose synthesis in plants during the process of photosynthesis iz
(1) Chloroplast

(2) Cytosol

(3) Mitochondria

(4) Golgi apparatus

THTRRIZYUl & R UIdl § Jeblel 1 A0 gl R ial g 2
(1) TR

(2) TrEcEE

(3) HIECIDI=al

@) Teall IHI0T

1[Option ID=26817]
2[Option ID=26818]
3[Option ID=26819]
4[Option ID=26820]

SlI. No.62
QBID:15750937

Stomatal opening is stimulated by
(1) Red-light

(2) Yellow light

(3) Blue light

(4) Green light

3 GR fPud GRITENTA ST § 2
(1) T Y1l

() e yer

(3) =i UHTT
(4) Bl UPIEI




1[Option ID=26821]
2[Option ID=26822]
3[Option ID=26823]
4[Option ID=26824]

Sl. No.63
QBID:15750938

Which one of the following is an obligate anacrobe
(1) Halobacrerium

(2) Thermus aguaticus

(3) Chlamydomonas nivalis

(4) Clostridium

9 & ¥ DI sifased] sfargeid! © 2

1[Option ID=26825]
2[Option ID=26826]
3[Option ID=26827]
4[Option ID=26828]

Sl. No.64
QBID:15750939

Endospores can be formed by which of the following :

(1) Gram (—) negative bacteria
(2) Gram (+) positive bacteria
(3) Both of the above
(4) None of the above

SIeIY] GG (3G 578 9 [bdd gRI S © 2
) 7 () Fifea sadifan

(2) U (+) difefed seifean

(3) SR feumugHf

@) TH IS el

1[Option ID=26829]
2[Option ID=26830]
3[Option ID=26831]
4[Option ID=26832]

Sl. No.65
QBID:15750940

Cyanophyceae in general are
(1) Autotrophs

(2) Heterotrophs

(3) Obligate photoautotrophs

(4) Obligate heterotrophs

HIYRUG: AR FT8ld 6 2
(1) ot

(2) fayqy

(3) FH YPRRGUNT

(@) T fawagrdt

1[Option ID=26837]
2[Option ID=26838]
3[Option ID=26839]
4[Option ID=26840]

Sl. No.66
QBID:15750941




Grven below are two statements: one 1s labelled as Assertion-A and the other is labelled as Reason-R.
Assertion-A : Regions of active cell division are responsible for the inerease in the length of roots and stems
Reason-R : Growth is an irreversible increase in volume or size

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Aistrue but R is false
(4) Ais false but R is true

19 31 By AU U & TP 3B U (Assertion-A) & F0 T f7fad & O G¥RT IUP BRI (Reason-R) P EUH
B YF-A : Glchg DI fauTeF & &7 st d i 31 dals 4 g & il SRaM gl ¢ |
BRUI-R : 3T d 3 F UG agiak] ol gis Ped g |

TWRIK DU D e H, A 15U T fadedl § ¥ Ta Iugad SR DI 997 DITAg
(1) ARRIA T8¢ AR R AT TS AT E

(2) A SRR T8 & AFTR AT TS TR e §

() AT E AR TE S ®

(4) AYEI el g AP R TRl &

1[Option ID=26841]
2[Option ID=26842]
3[Option ID=26843]
4[Option ID=26844]

Sl. No.67
QBID:15750942

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Eubacteria are sensitive to chloramphenicol
Reason-R : All bacteria are sensitive to chloramphenicol

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) Ais correct but R 1s not correct
(4) A s not correct but R is correct

A9 &l Py [GU U & U DY (Assertion-A) & FY T [IRGd © Al GERT 3HD BRI (Reason-R) & &Y H
fBYF-A : TN TARTEBPI & Ui HeT=ia e g |

BRULR : Gt Sffar] qarap-fidia & ufd GaeTiagia € |

JRIFd HYH & AT 1, AId [T T f[dwed] & T a9 Ual SR @] 994 Fiferg

(1) ASRRIA AT IR AP GSl OrE B

(2) A SRR EH 9A €, Afth R, A ) TSI IR 6l

(3) AGI T, AfPTR TR

(4 AHIE AfBTRITR

1[Option ID=26845]
2[Option ID=26846]
3[Option ID=26847]
4[Option ID=26848]

Sl. No.68
QBID:15750943




Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Growth is all irreversible increase in volume or size.
Reason-R : The shoot apical meristem is structurally more complex than the root apical meristem

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R 1s NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

19 &1 HYF ST Y §: U SHUHUA (Assertion-A) & U H [RGd ¢ 1 TR IUP DHRUI (Reason-R) H 9T
SYDYA-A ; ST 3R AT H SchHAuNT dgn & gia Ped o |
HRUIR : TRig XY AT SRaas 9 3 gd Y ARy &t gamn 1 siftfe sifea g |

SWRIad FYF & 3Aele H, 719 Ry T fdeei § T 98 SR o1 994 S
(1) A SRR EH U T 3R R, AP Tel Ure @

(2) A SRR 9T, AP R, A D! ! AR T8l §

() AGTE AfTR G

@ ATTE AfFTRTAR

1[Option ID=26849]
2[Option ID=26850]
3[Option ID=26851]
4[Option ID=26852]

Sl. No.69
QBID:15750944

Given below are two statements: one 1s labelled as Assertion-A and the other is labelled as Reason-R

Assertion-A : Observation of cyclosis or cytoplasmic streaming is an indication of active metabolism for checking viability of the freshly

isolated protoplasts

Reason-R : Inclusion of Evan's blue dye by intact membranes is also indication of viability of the freshly isolated protoplasts.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is NOT the correct explanation of A

(3) A s correct but R 1s not correct
(4) A isnot correct but R is correct

1 3 FU= ST U & TS HUBHYT (Assertion-A) & U H [IRET § T 2RI 39D BRI (Reason-R) F FUH

HDHYA-A : FISRIH U1 BIADIEA! YaTg Ta-[dalTd UICIiie Sl Sia-&mdl B Sid B & a0y Hishd Surg- &l ga-11 &

IUH 3qqlfhd Bl

FRU-R : 00 ATl gRI S & =al <o &1 guaw o Fa-f3afia dieiane i Saemd &1 g9 g
QIR FUA & TP |, AId [SU U [dFedi § § 9l 3t &1 94 DIl

(1) ARRIATAE IRR A DI Tl AT &

(2) A SRR EH T T, Al R, AT T2 TR 8T &

(3) AGTE. AR 3FT

) AT E AfFTRTTR

1[Option ID=26853]
2[Option ID=26854]
3[Option ID=26855]
4[Option ID=26856]

Sl. No.70




QBID:15750945
Grven below are two statements: one 1s labelled as Assertion-A and the other is labelled as Reason-R.

Assertion-A : Lateral heterogeneity is the unequal distribution of thylakoid complexes.
Reason-R : PS-II units are located exclusively in the appressed regions of thylakoid membrane

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Aistrue but R 1s false
(4) Ais false but R is true

1 31 By AU U §: TP HUFHUT (Assertion A) B =9 T fIRad & T GIRT ITS PRI (Reason R) & FU T:
By A - g fauHiTar, U as Ried o1 g faaRu g |
PRUR : PS 11 SHISTT USAD IS BIee & dhad Gy a1 § fRua sidi g |

SIRIGd B & SHTaD 1, =1 47 T fawedi § I 981 SR &1 994 SIferg
(1) ARRIAITAE SRR AT TEl TR

2) A 3RRIH AT b R A T T TR TR ©

() ATUE AfFIR 3T R

) AT E. AfFTRITR

1[Option ID=26857]
2[Option ID=26858]
3[Option ID=26859]
4[Option ID=26860]

Sl. No.71
QBID:15750946

Given below are two statements: one 1s labelled as Assertion-A and the other 1s labelled as Reason-R
Assertion-A : Removal of apical bud (decapitation) causes loss of apical dominance.

Reason-R : Apical dominance is due to auxins and apical buds are site of auxin synthesis. Decapitation causes loss of auxin required for
apical dominatnce.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
(4) Ais false but R is true

9 31 B U U §: TP MDY (Assertion-A) & U H [Af@d g ol GERT 39S BRI (Reason-R) b EUH
3HiMBYH-A : XY BieTeD] BT U9 (RR=b) Y Yo ol 81 Ugarai g |

PRULR : Y Te=ar SiifeT— & SRS € 3R i Hifce e I9a &1 == € | RR=5eT & SR i gumar & g
avae feaT S eId 8 |

SWRIF PYH & Selie §, 43U T [dwedl & 3 98l IR &1 90949 SIg

(1) ASRREH TAE ARR. AT Gel TORaT

2) A SRR GIE. APTR AT G e TS &

() ATGE. AfPTR AT

4 AJTTE AfFTRTAR

1[Option ID=26861]
2[Option ID=26862]
3[Option ID=26863]
4[Option ID=26864]




Sl. No.72
QBID:15750947

Given below are two statements: one 1s labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Bud pollination overcomes sexual incompatibility
Reason-R : At bud stage stigma lacks the exudate

In the light of the above statements, choose the most appropriate answser from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A s correct but R 1s not correct
(4) A isnot correct but R is correct

19 3 FY= 4T U & TS HUBYT (Assertion-A) B U H [IRET § T 2RI ITP BRI (Reason-R) B FUH

HfHYH- A - HICET IRATUL, e STl S ORIfoid Sl &

BRUL- R : BicTdH] a1 H, FaHfes § Nga & HH el & |

TRITd FYA F ATals 5, 7 U T fFeei & T I8 3R &1 997 Sifo
(1) ASRRE U E SRR AP Gel AR T

(2) A SRR IUE. AfbT R. A B! TS AT el &

(@) AT T, AP R 3T

(4) AT S AGIR IS

1[Option ID=26865]
2[Option ID=26866]
3[Option ID=26867]
4[Option ID=26868]

Sl. No.73
QBID:15750948

In which sequence the following structure/organ would be seen in ovule of cyeas.

A. Free nuclear @ gametophyte
B. Mature archegonium

C. Pollen chamber

D. Embryo

E. Seed

Choose the correct answer from the options given below :
1) C.B.A.D.E
) AC.B.IDLE
3) B.A.C.D.E
4) A.B.C.D.E

g & storrs B A 21 TS Geenstt / 3 B g e H 31 S 2
A. Tad AYSR @ THSIEE
B. URO® Wy

C. WA FHF

D. YU

E. ®ol

=i feu o fdeeal 5 ¥ 9l Sk &1 994 SIfoi:
1) C.B.A.D.E
2) A.C.B.D.E
3) B.A.C.D.E
4) A.B.C.D.E

1[Option ID=26869]
2[Option ID=26870]




3[Option ID=26871]
4[Option ID=26872]

Sl. No.74
QBID:15750949

Arrange the geological history of earth starting from most recent eras

A. Proterozoic
B. Archaezoic
C. Coenozoic
D. Palasozoic
E. Mesozoic

Choose the correct answer from the options given below :
(1) A.B.D.C.E.
2) A.D.E.B.C
3) C.E.D.A.B
4) C.D.A.B.E

gl & YA & Side o 9ad 3 oI ¥ 3R Sd §U ¥el o0 H gafeyd o |

A UASiid]

B. RISTA

C. Héuid!

D. RIGitdIebIe

E. Hesildl
9 fau U fadedl § U el SR &1 90 Difolt:
(1) A.B.D.C.E.
2) AD.E.B.C

3) C.E.D.A.B
(4) C.D.A.B.E

1[Option ID=26873]
2[Option ID=26874]
3[Option ID=26875]
4[Option ID=26876]

Sl. No.75
QBID:15750950

Arrange the following National Park in order of their location from West to East

A. Bandhavgarh
B. Gir

C. Hazaribaugh
D. Namdapha
E. Manas

Choose the correct answer from the options given below :
(1) B.AE.D.C
2) A.C.B.D.E
3) A.B.C.E.D
4) B.A.C.E.D

T feu U T Syl @ Uiy 9 Ud @ SR 9] [RUMd & YR 1R oaaiedd o |

A. €lgaig
B.fR

C. SARIENT
D. THETP]
E. B9

i f4u 70 fadedl § O el 3 &1 944 BTl
1) B.A.E.D.C
(2)




A B BB
3) A.B.C.E.D
4) B.A.C.E.D
1[Option ID=26881]
2[Option ID=26882]

3[Option ID=26883]
4[Option ID=26884]

Sl. No.76
QBID:15750951

Arrange the following groups of gymnosperms from advanced to primitive

A. Gnetales

B. Cycadofilicales
C. Coniferales

D. Cordaitales

E. Cycadeoidales

Choose the correct answer from the options given below :
1) A.B.C.D.E
2) A.C.E.D.B
3) B.E.D.C.A
4) A.C.D.E.B

i fqu 7Tt sAqddifsml & g @i faefid ¥ snfdn & on ¥ ogdfyd &1 |

i feu Tt fawed! & 9 96 S &1 7 DI
(1) A.B.C.D.E
2) AAC.E.D.B
3) B.E.D.C.A
(4) AL.C.D.E.B
1[Option ID=26885]
2[Option ID=26886]

3[Option ID=26887]
4[Option ID=26888]

Sl. No.77
QBID:15750952

Post fertilization change in Marchantia involves multiple changes. Arrange them in the correct sequence.

A. wall of venter divides and gives rise to calyptra.
B. formation of perigynium

C. cells of capsule wall develop annular thickening
D. distinet amphithecium is formed

E. spore mother cells are formed

Choose the correct answer from the options given below :
1) A.B.C.D.E
2) AAB.D.C.E
3) A.D.B.C.E
4) A.D.C.B.E




T R © 89 & a1¢ 9gd 9 uRadd 81d § | 576 Hal o8 § Haied oY |

A. 3 B T faHIior g1 S § SiR Spiegr 1 FHivr giar e |

B. WS Had &1 a1 |
C. 9 fHfd ot SifRiersi & aeger wie |

D. Gy SieRifEas &1 & |

E. SISl S D111 &1 HEi |

i feu ¢ fadedl O U g1 SR &1 94+ DIl :
1) A.B.C.D.E
2) AAB.D.C.E
3) A.D.B.C.E
4) A.D.C.B.E

1[Option ID=26889]
2[Option ID=26890]
3[Option ID=26891]
4[Option ID=26892]

Sl. No.78
QBID:15750953

What will be the order in which the following steps would be performed in the technique of herbarium making

A. Mounting
B. Filing

C. Pressing
D. Collection
E. Labeling

Choose the correct answer from the options given below :
) D.B.C.A.E
2) B.D.A.C.E
3) CCA.D.E.B
(4) D.C.A.E.B

TRaRTH §91 & de-ie 1 Ad U U =Rl & fog &9 ¥ e fean s 2

A, SRTT

B. GRS

C. gaMl

D. T8

E. TafaT
=i feu v f[deenl § ¥ Tl STk &1 994 S I
1) D.B.C.A.E
(2) B.D.A.C.E

3) C.CA.D.E.B
4) D.C.A.E.B

1[Option ID=26893]
2[Option ID=26894]
3[Option ID=26895]
4[Option ID=26896]

Sl. No.79
QBID:15750954

Which of the following four types of protosteles are recognised in pteridophytes

A. Haplostele

B. Actinostele

C. Siphonostele

D. Plectostele

E. Mixed protostele

Choose the correct answer from the options given below :




(1) AAB.C.D
2) A.B.C.E
3) A.C.D.E
4) A.B.D.E

TRRT U Srsc T e Y IR SRY Bl IggH B TS 8 2

i fqu 7T fas el § 9 96l 9Tk &1 994 Bifog:
1) A.B.C.D

2) A.B.C.E

3) A.C.D.E

4) A.B.D.E

1[Option ID=26897]

2[Option ID=26898]

3[Option ID=26899]
4[Option ID=26900]

Sl. No.80
QBID:15750955

Given below are two statements:

Statement-I : In C,4 plants, carboxylation of PEP occurs in bundle sheath.
Statement-II : Decarboxylation of C, acids oceurs in mesophyll cells of C4 plants.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-II are incorrect
(3) Statement-I is correct but Statement-ITI is incorrect
(4) Statement-I is incorrect but Statement-1II is correct

CIE KA R RIS AT U
BY1 : ¢, Uil T PEP T el aiiiien0l geress § gl g |

BY-I1 : C, N BT faraiafifera=or ¢, Gl &t yoiasiiqe Skt § g el

IRIFI DY D TS 1, Fiid [§U T [dded] ¥ Hg! TR &1 997 DI
1) FYFINRNEA TS

) PYTI AR I ST 3T &

(3) YT TH ©. A DU A ©

(9) FYTI AL, APA T TR

1[Option ID=26901]
2[Option ID=26902]
3[Option ID=26903]
4[Option ID=26904]

Sl. No.81
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Given below are two statements:
Statements-I : Hot spots of biodiversity must contain at least 0.5% or 1500 of world's 3.00.000 plant spices as endemic.
Statements-IT : Hot spots of biodiversity must have at least 70% or more of its primary vegetation

In the light of the above statements. choose the correct answer from the options given below :




(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-IT are false
(4) Statement-I is false but Statement-II are true

2 S py feu T B
FYF.1; aladed & gle Wie J fa% D1 3.00.000 TIEY STl &1 HH I FH 0.5% T 1500 WIIHE sHT1 AEWFA ¢ |
HUF-11 - SAfAa F gic Wic & ¥ F7 T TH 70% I7 A TRer g afad! Tom 81 71 o |

SWRIG B & Hile 1, =i 3T T fadedl § 999 3uged SR &1 99 HITU -
(1) HYT1 RIS SR

(2) Y1 3R I ST Ted ©

(3) HYT1TE B, e HYUF 11 7T ©

(4) U 1TTE €, A BT 1 TS §

1[Option ID=26905]
2[Option ID=26906]
3[Option ID=26907]
4[Option ID=26908]
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QBID:15750957

Given below are two statements :
Statements-I : Auxing delay the onset of leaf abscission
Statements-IT : Abscisic acid promotes leaf senescence independently of ethylene hormone

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement-I and Statement-II are correct

(2) Both Statement-I and Statement-II are incorrect

(3) Statement-I is correct but Statement-II is incorrect
(4) Statement-I is incorrect but Statement-II is incorrect

Y -1 : T T & I & TR ol feafad Ha § |
U -1 : RIS 3. SUTSTH SREH & 41 Wod &9 4 il J Siiidl &1 9grar adl ¢ |

SIRIFT DU B ST 5, Fild U 70 g el © Hg TR BT 971 DIog:
1) FYFIHRIET TTE

2) PYTI RIS 3T R

() FUFITAL. AFTFUT I AT

(9) FYTI A L. AP FUT I T B

1[Option ID=26909]
2[Option ID=26910]
3[Option ID=26911]
4[Option ID=26912]

Sl. No.83
QBID:15750958

Given below are two statements:
Statements-I : Oxygen produced by algal photosynthesis allows the growth of acrobic bacteria.

Statements-IT : Commensal relationships are associations i which both the interacting organisms benefit from each other.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement-I and Statement-II are correct
(2) Both Statement-I and Statement-II are incorrect




(3) Statement-I is correct but Statement-II is incorrect
(4) Statement-I is incorrect but Statement-II is incorrect

B -1 : a7 T BT YA §RT I Ao & gRT gl siraropst #1 gfS erht 81
FUA-11 - TeHTol Ty U Irgier § foad sia:-fesar &< aret i1 offd Ue gar 3 @1y Wi $d 6|

SIS HY & ATadie H, 414 f3U T faeredl § I 9a8 Iugdd IR & 984 DI

(1) PYFIAR I LR

(2) PUT1 IR SHT 1 ST T &

(3) YT el €. AP HUF 11 7Tad §
(4) HYT1TEd . AT P 1 TS ®

1[Option ID=26913]
2[Option ID=26914]
3[Option ID=26915]
4[Option ID=26916]
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Given below are two statements:
Statement-I : The periderm is a protective tissue of secondary origin in angiosperms and gymnosperms.
Statement-II : Periderm 1s the special type of protective tissue that oceurs in underground organs of some families.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II are false

(4) Statement-I is false but Statement-II are true

EIECCAIEICIR)
HYA 1 : AGAdITo] quT SETgasiordl 5 g 10 i T TP e Sud o |
B 11 : IRFY U (a9 TR P1 WP 30D ¢ ol S IRARI & Sy S A RIS g |

JRIFT DU P SATe 1, Hid iU T fddedl © T Tel TR &1 99 SIfel :
1) FYFIARIE TTE

) PYTIIR I 3T 8

(3) HYTI A . AP PUT I 3T T

(4) T IIE. AfF T TT 8

1[Option ID=26917]
2[Option ID=26918]
3[Option ID=26919]
4[Option ID=26920]

Sl. No.85
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Given below are two statements:
Statement-I : An organism in which a chromosome. or a piece of a chromosome is over represented is referred as a hypoploid
Statement-IT : An organism in which a chromosome. or a piece of a chromosome 1s under represented is referred as a hyperploid

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true
(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-IT 1is false
(4) Statement-I is false but Statement-IT is true




RIEEAEICA LRI R
FYUF 1 - U7 oitg ForH U@ TUREE, I1 TURE &1 U9 few ifd- nfaffia o €. 3% suaias @5 ¢ |
DY 11 : U Sila ToreH Ueb TURE. 1 UREA 1 U 6881 B8 Hidfitd $3d 6. 3% SRS $ed 6 |

SRITd FUA P a1, A S0 7T fadedl © ¥ 8! 3T &1 99 Dol -
(1) FUFISRIIEH 9T §

@) FYAIIR A SIS

(3) YT A g, Afh DU I A8

4) FYTIIIE. AT FUE I TS

1[Option ID=26925]
2[Option ID=26926]
3[Option ID=26927]
4[Option ID=26928]
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Given below are two statements:
Statement-I : Allopatric speciation requires thousands to millions of years and thousands of generations.
Statement-II : Allopatric speciation occurs commonly in plants through polyploidy.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-IT are false
(4) Statement-I is false but Statement-II are true

ARG CuE
FY 1 : IS T1fd SeHaT & o 89RI 9 HRIST ay aul 8R! Uifed! &t srawasarsida g |
w11 : el F fanfaes Si1fd Seva- TTeRUG: SgforaT RGN E |

SRITd FUA P a1, A S0 7T fadedl © ¥ 8! 3T &1 99 Dol -
(1) FUFISRIIEH 99§

) FYAIIR A SIS

(3) HYTI A g, Afh DU I A8

(4) PYTI ITAL. AP PUT I I B

1[Option ID=26929]
2[Option ID=26930]
3[Option ID=26931]
4[Option ID=26932]
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Properties of the genetic code are

A. composed of nucleotide triplets
B. non overlapping except rare cases
C. comma-free

D. degenerate

E. ordered

Choose the most appropriate answer from the options given below :
(1) AandB only
(2) A.BandC only

(3) A.B.CandD only
(4) A.B.C.Dand E only




HTHAIRS DTS P fa¥va g -

A fdmiergs Twie

B. $© ga ol & SISHx HIRER ol
C. 3fFad

D. fagd

E. Pitid

i f4u T fad et § © 9l IUgdd STk D1 999 DIty -
(1) FHaAA IR B

(2) FFdA. B3IRC

(3) $FGA.B.C ARD

(4) $TAA, B.C.D ARE

1[Option ID=26933]
2[Option ID=26934]
3[Option ID=26935]
4[Option ID=26936]
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Possible sources of contamination of the nutrient medium in plant tissue culture are :

A. the medium itself

B. the culture vessel

C. the explant

D. the environment of the transfer area
E. the operator

Choose the most appropriate answer from the options given below :
(1) AL E only
(2) B.C only
(3) A.B.C.D only
(4) A.B.C.D.E only
U1y 3ud HaHH § Ui ATy & Wy & SUIfgd Jid g
A H1HY WY 8l
B. Hae &1 §a
C. Tdld®
D. BRI &1 &1 GaiaR0l
ICEINET
=i fou v fdeal § 1 el SOk &1 994 SIfog -
(1) HAAAE
(2) $adB, C
(3) PAAA,B.C,D

(4) $GAA.B.C.D.E

1[Option ID=26937]
2[Option ID=26938]
3[Option ID=26939]
4[Option ID=26940]

Sl. No.89
QBID:15750964




The flavouring constituent of Ferula assa-foetida is the exudate collected

A. from the surface of leaves
B. from the surface of cut roots
C. from the flowers

D. from the surface of stem

Choose the correct answer from the options given below :
(1) BandD only

(2) Bonly

(3) Aonly

(4) Donly

Ul SHBICS] &1 YaT¥ & aTdl dd Usbd REE § |

A TAI P Ode Y

B. B! TS OIGi & g 9
C.qui g
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i feu e fasedl 1 ¥ 9a9 Sugad SR &1 98- Hifed
(1) HFAB AR D

(2) $Had B

(3) FHad A

(4) FadD

1[Option ID=26941]
2[Option ID=26942]
3[Option ID=26943]
4[Option ID=26944]
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Puccinia graminis tritici is a macro-cyclic rust fungi due to presence of

A. Pycmiospores
B. Acciospores
C. Uredospores
D. Teleutospores
E. Basidiospores
Choose the correct answer from the options given below :
(1) A.B.C only
(2) A.B.C.Donly
(3) B.C.D.E only
(4) A.B.C.D.E only

7 & 3 fpus! IuRufa & SR gl 3f Bfee te <id 9o! fog oo g 2
A ffeqarer
B, SRR
C. gRSGR
D. Tt QE!@ <
E. SHifsTEaR
Choose the correct answer from the options given below :
(1) $GAA, B, C
(2) PIAA,B.C.D

(3) ¥GdB.C.D.E
(4) $TAA.B.C.D.E




1[Option ID=26945]
2[Option ID=26946]
3[Option ID=26947]
4[Option ID=26948]
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Nitrogen. the main element contributing to the growth of plants in vitro and in-vivo is the constituent of

A. Amino acids

B. Certain hormones

C. Co-facter of many enzymes

D. Chlorophyll

E. In storage and transfer of energy in plants

Choose the most appropriate answer from the options given below :
(1) A.BandC only

(2) A.BandD only

(3) B.Cand D only

(4) C.D.E only

Yl B U qUT oid & 1o d@ g ARTed § | 9% 598 3 [GUe] 9Ued § 2

A, A Ufrs

B. Fi%d sraH

C. 9gd 4 U5 H B Y5-BRD

D. FARIfpd

E. UIeYi § Swl & SUU quT S&ideur 3

i fqu T fa el § 9 9l Sugdd STk &1 999 DIl :
(1) FIAA. B IR C
(2) FAA A, B3R D

(3) HFAB. C AR D
(4) $GAC.D.E

1[Option ID=26949]
2[Option ID=26950]
3[Option ID=26951]
4[Option ID=26952]
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Important characters of Barrachospermum are

A, fresh water habitat

B. sexual reproduction is of advanced oogamous type
C. chantransia stage is found

D. monospore produced from chantransia stage

Choose the correct answer from the options given below :
(1) A.Bonly

(2) A.B.C.D only

(3) A.C.Donly

(4) C.D only

ooty & g e g

A OT9 Oid H JA1dE|

Bﬁ%mﬁaﬁfﬁﬁﬂﬂgﬁmwm%:
C. AT SERI1 9Ts Wl 81
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(1) HadA. B

(2) PAAA.B.C.D
(3) $IIA.C.D
(4) FadC.D

1[Option ID=26953]
2[Option ID=26954]
3[Option ID=26955]
4[Option ID=26956]

Sl. No.93
QBID:15750968

The characters that define family Amborellaceae

A. flowers unisexual, tricolpate pollen. endosperm triploid

B. flowers unisexual. monoaperturate pollen. single ovule

C. flowers unisexual, tricolpate pollen, single ovule

D. flowers unisexual, monoaperturate pollen. endosperm triploid

Choose the correct answer from the options given below :
(1) AandB only
(2) Band C only
(3) Aand C only
(4) B and D only

TRl 9RaR @ gRuIfSd o dreil fagivard

Awﬁflﬁgﬂ:{aﬁ?ﬂewﬁgﬁm{ﬂm
B. TSl . UHERS R & dIels
D. Us{eftil gu, UshgRe TR, FAford Loy

i 4T T fa eyl § 9 96 IUgdd IR D1 98 Difeiy -
(1) FHad A dRB
(2 FF@BARC
() Fad@AdRC
(4) FEAB 3R D

1[Option ID=26957]
2[Option ID=26958]
3[Option ID=26959]
4[Option ID=26960]
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Match List I with List IT

LISTI LISTII

Buds are located above ground but low enough

ks [EBchp i k to not be exposed to strong wind.

Buds are located high, on shoots at least 25 to
30 cm above the ground level

B. |Geophytes I

Chamaephytes | III. |Annual life span, survive stress as seed

Buds are underground as thizomes, bulbs,

D. |Phanerophytes | IV.
corms

Choose the correct answer from the options given below :
(1) A-III B-I. C-IL. D-IV
(2) A-IIL B-IV, C-1. D-II
(3) A-IV, B-IIII, C-II, D-1
(4) A-IV, B-IL. C-I, D-III




il-1 & 1Y G -11 BT e Difoy

T T T 11
BB Ydd & S RUd gidi &, g
A [BIEE L |3 i Bl 8 o o garedl & uHg 8t
uEdl |
FITDTE HaE R YT Bl &, Yad & 3H
B Pfpien | L ﬁmzsﬂgoﬁﬁrﬂﬁmaﬁgﬂ
I oiia- 3aTy: 919 & ©U 5 38Hg
C [T | I |t o el A E |
|l IsHm, ge8 & &l dRe Y &
b |emwiche | v (FoOR "

= fou v f[deeul § 98! 3O &1 90 DTl
(1) A-IIL B, C-IL D-IV

(2) A-IIL B-IV, C-I, D-II

(3) A-IV, B-IIIIL, C-II, D-I

(4) A-IV, B-IL, C-I, D-III

1[Option ID=26961]

2[Option ID=26962]

3[Option ID=26963]
4[Option ID=26964]

Sl. No.95
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Match List T with List IT

LISTI LIST I1
A |Auxins I |2-chloroethyl phosphonic acid
B. |Cytokinins IT. |tetracyclic diterpenoids
C. |Ethylene III. |dichlorophenoxyacetic acid
D. |Gibberllins IV | furfurylamino purine

Choose the correct answer from the options given below :
(1) A-III B-I. C-IV, D-II
(2) A-L.B-IV. C-II, D-III
(3) A-IIL B-IV, C-1. D-II
(4) A-L.B-IV, C-III. D-II

eil-1 & FIY GI-11 D1 e Pifeg
LRl e I
o 2 FERISYTEE BIbI-®
A |l S

B. |uEciEAg I égeggiuai
C. |ZYISdH i, [ ApAIRIe

ST
D. |freRfeg IV, (GRERE THH 2R
4 feu e fasedl © U 981 SR &1 90 DIl :

(1) A-II B-I. C-IV, D-II
(2) A-L B-IV. C-I1. D-III
(3) A-IIL B-IV, C-I. D-II
(4) A-L B-IV. C-III. D-II

1[Option ID=26969]
2[Option ID=26970]
3[Option ID=26971]
4[Option ID=26972]

Sl. No.96




QBID:15750971
Match List I with List IT

LISTI LISTII
A |Oxylophytes I |wastelands
B. |Helophytes II. |marshy area
C. |Chersophytes ITT. |acidic soils
D |Psammophytes IV. |sandy soil

Choose the correct answer from the options given below :
(1) A-L B-II. C-IIL D-IV

(2) A-IL B-I. C-IV, D-II

(3) A-II B-II, C-I. D-IV

(4) A-L B-II. C-IV, D-II

Tt 1 & 91y G 11 1 o Sifee
1 T I
A |HHTIENE (Oxylophytes) 1 (& Hi#
B [PBGIG (Helophytes) I &5 &3
c. |enifefig {Chersophytes) 1. |3&fadger
D. a@ﬁlﬁﬁ!ﬁ (Psammophytes) | [V. EGII Hal

= feu v faeeal § ¥ Ul Sk &l 994 SIfor -
(1) A-L B-IL C-IIL D-IV

(2) A-IIL B-I, C-IV, D-II

(3) A-IIL B-IL C-L. D-IV

(4) A-L B-IL, C-IV, D-II

1[Option ID=26973]

2[Option ID=26974]

3[Option ID=26975]
4[Option ID=26976]
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Match List I with List IT

LISTI LIST IT
A |Tokyo-vokohama asthma 1. |Photochemical smog
B. |Leaf tip bum II. |Acid rain
C. |Fish gravevards III. |Fluoride pollution
D. |Global warming IV. |HECs

Choose the correct answer from the options given below :
(1) A-L B-II. C-IV, D-III
(2) A-L B-III C-II. D-IV
(3) A-IL B-L. C-IIL. D-IV
(4) A-IIL B-I. C-IV, D-II

eil-1 & T1Y GAI-11 DT e Difeg

T 1 T I
A Mi'm L |TEREREEEAS g
B. |gofsmreeq I |3fd auf
C. | vaurs 1. | FeilRIES Hguul
D. |7died arfe IV. |09 U% O (HFCs)
1= fqu T faedl § © 96l 3R &1 997 P :

(1) A-L B-IL C-IV, D-III




(2) A-I. B-III. C-II. D-IV
(3) A-II. B-I. C-IIL. D-IV
(4) A-III. B-1. C-IV, D-II
1[Option ID=26977]
2[Option ID=26978]

3[Option ID=26979]
4[Option ID=26980]
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Match List I with List IT

LISTI LIST IT
A Green pea L Cicer ariefinum
B. Chick pea II.  |Lathyus odoratus
C. Sweet pea IIl. |Cgjanus cajan
D. Pigeon pea IV. | Pisum sativum

Choose the correct answer from the options given below :
(1) A-IL B-L C-IV, D-III
(2) A-IV, B-III, C-II. D-I
(3) A-L B-IL. C-IIL D-IV
(4) A-IV, B-I. C-II, D-III

Yail-1 & F1Y GI-11 $1 e Pifeg

T I Tt 11
A [gfim= I |G wifleaq
B. [@ I |CPelERd Sfisied
c. [ded NI oy G
D. |3RER V. | 759H Jezaq
i fau ¢ fadedl § U 981 SR &1 94 DIl :

(1) A-IL B-L C-IV, D-III
(2) A-IV, B-III. C-II. D-I
(3) A-L B-II. C-IIL. D-IV
(4) A-IV, B-I. C-II. D-III
1[Option ID=26981]
2[Option ID=26982]

3[Option ID=26983]
4[Option ID=26984]
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Match List I with List IT

LISTI LIST IT
A |Damping off of seedlings I. |Ustilago nuda
B. |Downy mildew of peas I |Pvthium sp
C. |Loose smut of wheat III. |Protomyces macrosporous
D. |Steam gall of conander IN. | Peronospora pisi

Choose the correct answer from the options given below :
(1) A-II, B-IV. C-I. D-III
(2) A-II, B-III, C-I. D-IV
(3) A-II, B-IV. C-III. D-I
(4) A-L B-II. C-IIL. D-IV




il-1 & 1Y GAI-11 BT e Pl

A T 1
A [Tt PT SEdT g L | sifee 58T
B. Wﬁﬁaﬁﬁw 1. | orglaq og ot
C. [l el he 1L Iizi;g;i“
D. |ufg &1 &Y fAfedm V. | ORI fafdy
<4 fqu e faeedl & 9 g1 TR &1 =0 S :

(1) A-II. B-IV. C-1. D-IIT
(2) A-II. B-IIL. C-I. D-IV
(3) A-IL B-IV. C-III. D-I
(4) A-IL. B-II. C-IIL. D-IV
1[Option ID=26985]
2[Option ID=26986]

3[Option ID=26987]
4[Option ID=26988]
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Match List I with List IT

LISTI LIST IT
A |Plerome I |precursor of epidermis
B. |Histogen II. |precursor of cortex
C. |Dermatogen ITT. |precursor of central vascular cylinder
D |Periblem IV, |precursor of tissue regions

Choose the correct answer from the options given below :
(1) A-L. B-IV, C-II, D-III
(2) A-IV, B-II. C-III. D-I
(3) A-IIL B-IV, C-1. D-II
(4) A-IL B-IIL C-1. D-IV

eil-1 & FIY GI-11 D1 e Pifeg
I 1 Ha 11
A [yeE 1. |STEradr &1 ydadl
B |eF@eH 1L |ideR &l gddal
C. | 101 %W iR
D. [degeoH IV. [3dd &1 &1 gdadf

- fu e faw et & 9 el I =g Difo -
(1) A-I. B-IV. C-II. D-IIT

(2) A-IV, B-II. C-III. D-I

(3) A-IIL B-IV, C-1. D-II

(4) A-IL B-IIL C-1. D-IV

1[Option ID=26989]

2[Option ID=26990]

3[Option ID=26991]
4[Option ID=26992]




